ED-2003

B.Com. (Part-I) Examination, 2021

Compulsory
Group -1
Paper - 1

Financial Accounting

Time : Three Hours] [Maximum Marks : 75
9t Tl % S IANTI 9t Tl Sw
peic i
Note : Answer all questions. All questions carry equal
marks.
THTE / Unit-I

1. JXUeH U6 r@mhd i qel e Jomet ol
foar ¥ guzmEe iR sud oy fafeu)

Explain in detail the theory of Double Entry
System of Book-keeping and Accountancy and

give its advantages.
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(2)
TEEe dedl ¥ AW §? THR TR

®q 4 wAERC| Okl el o A <N

What is meant by Subsidiary Books ? Explain
it fully. Give a specimen of Sales Book.

ZhTS / Unit-11

2. Y'qdUe haa T HeH YEar w1 GO
71 3@ FUE H gmeET SR 3A faf=
Ffedi @l fafgu S qa@9e g’ 'l S S
gl T |

“Trial Balance is the evidence of only

arithmetical accuracy.” Explain this statement
and point out the errors which the Trial
Balance will not reveal.

37g4qr / OR

ot fasa &1 31 fewwr, 2000 @ THE B
g 99 H qave AW fea wEm ¥ ozEd
M9 &9 2000 1 AR TE Y- Gl
3iR 31 fewwR, 2000 #1 fagar TAR HifGT

fererm T fererm T
Tefqan 1 SHadl, 2000|16,000 [ &1 59T | 4,400
RCE| 24,000 | fafag TR 11,600
fafay SRR 17,000 | St 32,000
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(3)

fererTor T fererTor T
ENiEe 10,000 |frsht 1,30,000
3R 4,000 |2t 400
EX| 90,000 |sh3 ATIHT 800
T T 1,500 |HHIIH 750
MR T 3,600 |3TRTeT oy

PICEIE] 400

farsht st 600 | forat 2,000
ELi| 8,200
T W ST 1,250
TR 0T 300
o foret 4,500
UHe oW 1,400

1,82,350 1,82,350

=1 FHEISHT 3TeeTeh ©

() 31 fg@@R, 2000 = 3ifqw Wi =
T T 12,000 ATl

(b) TSt W 5% dMfeh SIS AT o)

() 9a9 o T 800 TAT &I oI

(d) ST 1 T 150 Yeigd ol

() HHM W 2%, AT T 10% BE HAl

7

DRG 57 (12) (Turn Over)




(4)

(f) STeRI W 5% AWEA RO TEHH %
W T

(g) FHEH & ¥200 fHem o9 ¥

Below is given the Trial Balance of Shri Vijay
in respect of the year ending 31st December,
2000. Prepare his Trading and Profit & Loss
Account for the year 2000 and his Balance
Sheet as at 31st December, 2000 :

Particulars g Particulars 3
Stock 1st Jan., 2000 16,000 | Bank Loan 4,400
Building 24,000 | Sundry Creditors | 11,600
Sundry Debtors 17,000 | Capital 32,000
Machinery 10,000 | Sales 1,30,000
Drawings 4,000 | Discount 400
Purchase 90,000 | Purchase Return 800
Insurance & Taxes 1,500 | Commission 750
Trade Expenses 3,600 | Provision for

Bad debts 400

Sales Return 600 | Bills Payable 2,000
Salaries 8,200
Freight on Purchase 1,250
Bad Debts 300
Bills Receivable 4,500
Cash in hand 1,400

1,82,350 1,82,350
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(5)

Following adjustments are necessary :

(a)

()

(©)
(d)
(e)

()

¢9]

Closing Stock on 31st December, 2000
was ¥ 12,000.

Interest at the rate of 5% p.a. was to be
allowed on capital.

¥ 800 are outstanding for salaries.

Insurance prepaid ¥ 150.

Depreciation is to be written off on
building at 2% and on Machinery at 10%.

To keep 5% provision for Bad debts on
Debtors.

Commission earned but not received
T 200.

THTS / Unit-I1T

3. G99 H P WA T? T G9I F T2

T8

foh YR oM ST © 2 39k oY Td

it ferf)

What is the meaning of Reserve ? What is

secret reserve ? How 1is it created ? Write its
merits and demerits.
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(6)

T e ®H 9 1 SFad, 1993 @1 WA
¥1,00,000 H %I H AN THF H H
$2,000 =g fRA| S ad 1 JAR R
¥50,000 H UH HIMA A &I T | 1 SHaA,
1995 @ 39 HWIME ol el W T 40,000 H
o T, N9 1 S9ad, 1993 @& ha ok
T o7 3R IEr fed ¥25,000 kT Wh T
IHE T H TR

B 10% Ufdad 1 W § HA A W
fren ST §1 1995 H IY S€A W 15%
gfaas ot <X 9 HHNE B9 Ugid H1 GIM
feen T %)

1993 ¥ 1997 T & Toid HIH @@l AR |
(Ale : 3ot AT ehed 9 H H)

A manufacturing firm purchased on 1 January,
1993 certain machinery for ¥ 1,00,000 and
spent ¥ 2,000 on its erection. On 1st July in
the same year additional machinery costing
¥ 50,000 was acquired. On 1st January, 1995,

the machinery pruchased on 1st January, 1993
(having become obsolete) was auctioned for

40,000 and on the same date fresh
machinery was purchased at a cost of

¥ 25,000.
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(7)

Depreciation was provided annually at 10%
p.a. on the original cost. In 1995, however,
this method was changed and that of writing
of 15% on the written down value was
adopted.

Give the Machinery Account as it would stand
at the end of each year from 1993 to 1997.

[Note : make your calculation to the nearest
rupee]

318 / Unit-IV
4. v &g wd fooeg g 9gfd 9 U &=
3y B2 T wa wE T wE WO
W HIT |

What do you mean by hire-purchase and

instalment purchase system? Explain the
difference between hire-purchase system and
instalment purchase system.

37g4qr / OR

X &HO H e R A g, N9 siew
e W 20% o9 W WA WS ST ¥
Fifehd FITRT % SMHN T AR K oW
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(8)

gohe HAd I I wEAGE hl GEh H
‘e @’ AR

?
IR Tosht 11,200

TN <l JA A (SffsTeh god W) 38,000

Tehg Toht 24,800
el ¥ AHS AT 10,000
S (& e g YT 1,520
fohra (= wEIed GRI A ) 1,800
UEeh! <l I T8 el 400
el T g3l 100

fafay =1 (Y= FEE R TaH) 100

TEh! A Al M 200

TR T B 100

X company has its branch at Raipur, goods
are mnvoiced to this branch at 20% profit on
invoice price. From the following details
prepare Branch A/c in the books of Head
Office showing branch profit :
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(9)

F
Credit Sales 11,200
Goods supplied to branch

at invoice price 38,000
Cash Sales 24,800
Cash received from Debtors 10,000
Wages (Paid by Head Office) 1,520
Rent (Paid by Head Office) 1,800
Discount allowed to customers 400
Goods spoiled 100
Sundry expenses (Paid by H.O.) 100
Goods return by customers 200
Depreciation on Furniture 100

THTS / Unit-V

5. ®H % WU U 1 AW T2 WA %
UhIh{0] o THY AW@HRd & F oag fed
€ ?

What is amalgamation of firm? What

accounting record is made at the time of
amalgamation of firms ?

37g4qr / OR
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(10)

A, B 3R C & W & WEER §, 3R
A HEI: 3:2:1 & AU H died T |

qreier o1 foered 31 fog@wr, 1991 @0 ga|
T dRI@ & ®H o1 faeer ewifed o :

7 7
GRS 10,000 | TkE 2,000
A H HI 3,000 | TTER 21,000
B &1 RO 2,000 | T&faan 8,000
TSt
A ¥ 10,000
B ¥ 5,000
C ¥ 1,000 |16,000

31,000 31,000

Iz foflg fan ™ © fF ws i =
foator g% A & Ad H I wA ° R
SR 59 wa o wifeEr gkt § 1 wifeEr S

=g 9 geR 9

eTer | Tefa =D
7 7 7
SEEH 4,000 | 2,000 500
T 5,000 500 250
= 4,500 | 4,000 500
G pre] 5,000 500 | 200
T3 1,000 | 1,500 250
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(11)

wfaa qu foe i, W AW I_R W C A
300 § o fom| s &1 famun fe@Eu|

A, B and C are partners in a firm and divide
Profit & Loss in the ratio of 3:2:1. Partnership
is dissolved on 31st December, 1991.
Following is the Balance Sheet of the firm
on this date:

T T
Creditors 10,000 [ Cash 2,000
A’ Loan 3,000 | Debtors 21,000
B’s Loan 2,000 | Stock 8,000
Capital :
A % 10,000
B ¥ 5,000

C < 1,000 16,000

31,000 31,000

It was agreed that net realisation will be
distributed at the end of each month in the
same order in which realisation are made. The

realisation and expenses are as follows :
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Debtors | Stock | Expenses
3 3 3

January 4,000 | 2,000 500
February 5,000 500 250
March 4,500 | 4,000 500
April 5,000 500 200
May 1,000 | 1,500 250
The stock completely sold off but

remaining debtors were taken over by ‘C’ for
¥ 300. Show the distribution of cash.
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